O BF (FEIOOFEEFHIED=OHRIED) BXETH? B
O 0—%9U—-YVJ“HHDER"” EOEYIROLIFRIUVER &

OWODFRNEN (iE W FATPF. BOEDRTIIRAF v— ity

O O—%U—DBEMIER (& M A

OSREBSE (BE X =R
- 18BDFISHEICHERE - PHS - S THARNPRERESHZ CBNEERE L LfC%éE Lnt_o

-218 (1) [CABA VI—72 NBO)\F—hBEEN. BROELAREBRED SHLOX =LA
BE. BRIC<N<NHEELBLLEDZET U, ‘
= §17El:5 LWC LRI TEFZFHATUR, BFEVBULLIFET, fAldEbdhn. —FRHONESSENE
U7,
- TABDOSTEM LIS F—ICE. ETEER - EFERE - BHEAPC - BOANF—@EENEELERT,
OHSRE (PHOBE 58
- ERBMEIRU A TS 2OBREHBNTH D £
O LFHS (= T&D) - AEHOHREER 61,5%
XM (PR 28) AETERVRBTULEN, —FRHOMNESIENE Lo =72 78}
mIISELOBELEBENRMtEINE U,
O ZJ=-IJBOX (ki &

é&%ﬁ ﬁ:%*a%s —FRCEHESETLUL, (®8=-1=0) (8,000)

- NS . c—EFDEESTERBDT, RREBLUEWEBWET, 68148, BFERCO0FBEICEE, FADBRINE
“Bﬁﬁi!otb\i U7z, mmoma Ufto SRBECICHHRDDT, EHXHEERSER-ED. SEEONT
HEEONEDT, BDFETEEVE U, BHABCHIDDBHILBVWRENB D E U, REOPTETIEL TWELED
BUWERSTBOET ERBR> TEX U, BBRIC. SORRDEREANRITEEBRT. SKETIOFICKTLETE
ZUTHOE LU, O—9U—(32030FEH S H/N\F—HIENRLRD, V—-YI—F 1 R—9—DMDFT, FIet<
RBROFET, FEFELTLNE, RIDSBREIAEPL > TLWIDONE D L—L FIEH R BNEEZAZTFHEOZIHEEAN
FEAD, O—9U-DELDETYU-XAYIEHNSTT, A>TWWNSEHLSLWWS ENRB D, EHSRZEINZE

WS ZE&TYT, BEROO—9J—[SBEHNSEZ TLHRLEFIENTERE A, (10,000)
=3 SRR O—49U—0BKIC, IDBWELHBTECL> TELOBRETITELEBVTHOFT, I ad o7k

5ESP->THADABVELHBZEMTELXTH. CDISTIEFTHHEPNIEVVDTYT, REHSIHEREPSET
WEREZXT, ESBVNVEOINBLHREBNETN, BHIFTWELEELVWEBVWET, /{VIVEFE, (10,000)
KB . HESR, (PHARBEENEIETUL, T, ETHESRLBUSBBILET, (10,000)
CEREE. - - - . AEHNEBLVWEREPES EBO>TEZX LN, BEMHEPNEBATUE, ERBEX. 1V59—FO RN
&3 uh_e: HINF—BETADNNBNEHTRAEDIPNE ? —FERH D AES ENE U, (10,000)
- PEFA - - —FERH OMNES ENE Uz, BROSBHOENTTRAENMRDBTENTEX U, RiTHORN
E\A’C774 ~UE Uz, BiRMISKES, By &RIHMEEEICI> TEORULH -7, (4,000)
. ﬁm;jﬁééé - —FER@HDOMNESENE U, KBDORES., BEEEROIVYROTFHSGHD. _zk‘*(atﬁb‘bniﬁ/uo BL
Hho
'''' RE—FLROFITH. EHEEEDDSBH >N, BROBFEMUVTL SH\IDDITATTELELSICR
gﬁg%gfﬂ’s% DIRESENFE U EFEREB UL, FAEBICTHERERH ULE UL, KENBERDT, SRR
0y b\o
fepgg- - - - - THARE T, BESNABVNTENBNERBVWETH, IV IVEEBETT, my rotaryDEEWESEBETLERE
=X, (3,000) (&5t : 50,0008)




